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Q.1 Choose the right option and rewrite the sentences (2)

1) India’s average population density is …………… persons per sq. km as per 2011 census.
a. 270          b. 382          c. 300          d. 350

2) Brazil is the most …………… country in the South America continent.
a. educated          b. populated          c. uneducated          d. unpopulated

B) Match the pair (2)

1) Column "A" Column "B"

 i.  2  populated country  a. Per 1000 males

 ii.  5  populated country  b. Every 10 years.

 iii. Sex-ratio  c. India

 iv.  Census survey  d. Brazil

   e. Literacy-ratio

   f. Medical facilities

Q.2 A) Answer in one sentence (Any two)
(2)

1) In which areas the population is generally sparse.

2) Identify the odd man out and give reason.
Bihar, Assam, West Bengal, Arunachal Pradesh, Punjab.

3) Identify the odd man out and give reason.
Himachal Pradesh, Jammu and Kashmir, Arunachal Pradesh, Assam.

Q.3 Answer the following questions on the basis of the map given (Any four) (4)

nd

th



 

i. 
In which area is the population greatly concentrated?

ii. 
In which area is the distribution of population sparse?

iii. 
What could be the reason for that?

iv. 
What factor are responsible for high concentration of population is south-east? 
 

v. 
What kind of population distribution one finds in north-east of Brazil? 

vi. 
Identify the type of map showing distribution.

Q.4 Give Geographical Reasons (Any two) (6)

1) Brazil’s population density is very low.

2) The density of population is sparse in Amazon basin.

3) Population density is high in the Ganga plains.



Q.5 Answer in Detail (Any one) (4)

1) Compare the line graph of urbanization in India and Brazil.

2) Giving example, correlate the climate and population distribution.


